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1. Express 12 as a decimal correct to 2 decimal places

(i) 0.07 (ii) 0.17 (iii) 0.71 (iv) 0.01 (v) -0.13

2. Find the number of decimal places in the decimal number 9.4 is

(i) 2 (ii) 1 (iii) 0 (iv) 3 (v) 4

3. The decimal part of the decimal number 947.858 is
(i) 957 (ii) 947 (iii) 9478 (iv) 858 (v) 94

4. 6.04+3=
(i) 4.0133 (ii) 1.0133 (iii) 0.0133 (iv) 2.0133 (v) 3.0133

5. Write the decimal number223.8275in words

two hundreds three tens three ones and eight tenths and two hundredths and seven thousandths and five
ten thousandths

(i)

two hundreds two tens three ones and eight hundredths and two thousandths and seven ten thousandths
and five ten thousandths

(if)

two hundreds two tens three ones and eight tenths and two hundredths and seven thousandths and five ten

(i) thousandths

two hundreds two tens four ones and eight tenths and two hundredths and seven thousandths and five ten

(iv) thousandths

two hundreds two tens three ones and eight thousandths and two ten thousandths and seven ten

v) thousandths

6. Which of the following decimal numbers lie between9924.5and9924.67

(i) 9924.63 (ii) 992.45 (iii) 9924.42 (iv) 9924.55 (v) 992455

7. The decimal number -8.0068 lies between

(i) {-8.0070,-8.0069} (ii) {-8.0058,-8.0048} (iii) {-8.0067,-8.0066} (iv) {-8.0088,-8.0078}

(v) {-8.0078,-8.0058}

8. The decimal number 758.549 lies between

(i) {757,758} (ii) {756,757} (iii) {759,760} (iv) {758,759} (v) {760,761}

9. Which of the following is true?
(i) 0.7+0.2=3.5 (ii) 0.4+0.1=0.3 (iii)) 0.8—1.0=1.8 (iv) 0.3+0.1=0.2 (v) 0.74+0.2=0.5

703
10. Express 993 as a decimal correct to 3 decimal places

(i) 0.908 (ii) 0.508 (iii) 0.708 (iv) 0.608 (v) 0.808



11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

"five tenths" is how much?

(i) 5 (i)

(iii)

(iv) 50

(v) 2

How many thousandths are there in the number 444.48267

8 (iii)) 6 (iv) 1000 (v)

(i) 2 (i)

The value of 65.048 — 66.097 is

(i) -0.849

(ii) -1.149

(iii) -0.949

4

(iv) -1.249 (v) -1.049

Write the decimal number600.4857in words

(i) six hundred point four eight five seven (ii) six hundred point zero four eight five seven

(iii) six hundred point zero zero four eight six (iv) six hundred and ten point four eight five seven

(v) six hundred and one point four eight five seven

81.18 x
(i) 4.06 (

i) 1.06 (iii

6.05 X5 =

(i) 29.25
43 =

(i) & (ii
) 1o

(i) 31.25

) 43 (iii)

= 167.23

) 2.06 (iv)

3.06 (v) 0.06

(iii) 28.25 (iv) 32.25 (v) 30.25

(iv)

100 1000

Divide 435.83 with 1000
(i) 0.0043583 (ii) 43.583 (iii) 4.

402 +5=
(i) 8.02 (ii) 9.02 (iii) 11.02 (iv)

(v) 430

3583 (iv) 0.43583 (v) 0.043583

7.02 (v) 10.02

Write the decimal number150.4in words

(i) one hundred and fifty one point four (ii) one hundred and fifty point zero four (iii) one hundred and fifty

(iv) one hundred and fifty point four (v) one hundred and sixty point four

3157
10000

3.157 =
(i 3157 3157
i .
10000 10
The value of 26.6 — 52.6 is

(i) -25.80

(i) -26.00

(iii) -26.20

~ 3157 3157
(iv) - (v) -
0 100 1000

(iv) -26.10 (v) -25.90

The decimal number 0.622 lies between

(i) {-2,-1}

(i) {1,2}

(iii) {2,3}

(iv) {0,1} (v) {-1,0}



24. The decimal number 5.0028 lies between

(i) {5.0038,5.0048} (ii) {5.0018,5.0038} (iii) {5.0008,5.0018} (iv) {5.0026,5.0027}

(v) {5.0029,5.0030}

25. Write "five hundred and seventy four point three one zero" as decimal number

(i) 584.310 (ii) 574.310 (iii) 574.0031 (iv) 574.0310 (v) 575.310



Assignment Key

1) (i) 2) (ii) 3) (iv) 4) (iv) 5) (iii) 6) (iv)

7) (v) 8) (iv) 9) (i) 10) (iii) 11) (ii) 12) (i)

13) (v) 14) (i) 15) (iii) 16) (v) 17) (i) 18) (iv)
19) (ii) 20) (iv) 21) (v) 22) (ii) 23) (iv) 24) (ii)
25) (i)
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